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Question Number : 20 Question Id : 68634044978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g YT & 6 TdaR 1983 P §HT U Sl U IAGaR U, ol 1984 T TS TG HIg & fohd T
TS

1. 9HaR
2, §YaR
o

4. FehdR

Options :

686340177677. 1
686340177678. 2
686340177679. 3
686340177680. 4

Question Number : 21 Question Id : 68634044979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt 3 3o 4 & ufka: aRkyme B el & THE Seig safd e S 3 HEIAAIg

1. Ydia 3uTg
TP 39T

1. RfdP uUg
4, YT (INSAT)

Options :

686340177681. 1
686340177682. 2
686340177683. 3
686340177684. 4

| )

[#5]

Question Number : 21 Question Id : 68634044979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gedt F 3T 4 & TRk afvymor 9 el & T Sefig safd o SuE S HEI g
1. Ydi I9Ug

2. Rfdd IuIg

3. Y- WdP UUE

4. ST (INSAT)
Options :

686340177681. 1
686340177682. 2
686340177683. 3
686340177684. 4

Question Number : 22 Question Id : 68634044980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 D1 Y 11§ A Siforg
LIST1 LIST I
TEgHIT=a" ST IH
A [dTcd] L BRids
B. [Eacid! I1. [l
C. [HRdY UcgHi—aH Hu-l 111 [PRIYE
D. el IV. [9@c
FofRad fAeel & T 981 31 &1 98- Bifod -

1. A-IIL. B-1. C-IV, D-II
2. AL B-IV, C-1, D-III
3. A-IIL B-IV. C-1. D-II
4. A-IL B-1. C-IV. D-III

Options :

686340177685. 1
686340177686. 2
686340177687. 3
686340177688. 4

Question Number : 22 Question Id : 68634044980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

LIST I LIST I
TEgH g™ U=l T

A [ETcd! 1 ERigs

B. [EeTam! 1. [FRa

C. [HRd™ TegdIag St 1L [PRIIE

D. [Free] V. Rq@e

FofaRad Aol & T 98! 3 &1 98- Fife -

1. A-IIT. B-1. C-IV. D-II
2. A-IL B-IV. C-1. D-11I
3. AL B-IV. C-1. D-II
4. A-TI B-1, C-IV, D-1I1

Options :

686340177685. 1
686340177686. 2
686340177687. 3
686340177688. 4

Question Number : 23 Question Id : 68634044981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR (3ieHe) TUG o U G Bl dlei 4§ A 3R 3 G G&H &l GIcl & o (o0 Hg bl 6|
43 "edl [y 9 § ol Sl g

1. RIPER
_9& aRada

IS-01S
4. 9T TR 9HYUr

Options :

686340177689. 1
686340177690. 2
686340177691. 3
686340177692. 4

| )

[#5]

Question Number : 23 Question Id : 68634044981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR (3h8) TG & Uh Jad i alar § Ad 3R 30 GIR Fad &1 aa o P (070 Hg 9Pl 6|
gg Yol g v 7 ol 5t 81

1. RPER
1&g afyad

IB-TTS
4. e TR IHY0r

Options :

686340177689. 1
686340177690. 2
686340177691. 3
686340177692. 4

[

L]

Question Number : 24 Question Id : 68634044982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

I I
A |3 gae 1 [FTOre T AT
B. RAow [ 11 [o5. o, S
C. [gde A% 15T giree] 111 [eoric wRad!
D. [4r=re Giaw T 1v. [ [dadg
fafead faeedl O I 98l SR &1 9494 Sifut

1. AT BTV, C-II. D1

-2

AT B-IV, C-1 D-II
3. A IV, B-III C-1. D-II
4. ATl B-IV, C-1, D-TII

Options :

686340177693. 1
686340177694. 2
686340177695. 3
686340177696. 4

Question Number : 24 Question Id : 68634044982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I I
A |3 gue 1 [FTare o AR
B. RAow [ 11 [o5. o, S
C. [gde A% 15T giree] 111 [eoric wRad!
D. [grere giag i 1v. [ [dadg
fafafad faeedl & O 98l IR &1 994 I ;

1. AT BTV, C-II. D1

-2

AT B-IV, C-1 D-II
3. A IV, B-III C-1. D-II
4. ATl B-IV, C-1, D-TII

Options :

686340177693. 1
686340177694. 2
686340177695. 3
686340177696. 4

Question Number : 25 Question Id : 68634044983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YebU T S BT % (b ¥U & S &Il §
1. YU oA
2. 49 (BIHH)

& a
1. it

Options :

686340177697. 1
686340177698. 2
686340177699. 3
686340177700. 4

Question Number : 25 Question Id : 68634044983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&Y T I BT &% [5g ¥U T S &Il §
1. YT ol
2. 5d (PIHH)

4 y
1. HiTDpZ

Options :

686340177697. 1
686340177698. 2
686340177699. 3
686340177700. 4

Part B: Water Engineering and Management

Section Id : 686340886
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401468
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634044984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Uniform flow I |Flow through a water supply pipe.
; Flow through a straight tube of uniform
B. [Laminar flow IT. [ . o s=
diameter and uniform roughness
C. |Turbulent flow | III. |Flow abowve the drain hole of wash basin
D. |lrrotational flow] IV. [Flow of blood 101 veins and Arteries

Choose the correct answer from the options given below:

1. A-III, B-1, C-IV, D-II

[ ]

. A-IL B-1, C-IV, D-ITI

L]

AL B-IV, C-I, D-I1
4. A-IL. B-IV. C-1. D-III

Options :

686340177701. 1
686340177702. 2
686340177703. 3
686340177704. 4

Question Number : 26 Question Id : 68634044984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

g 1 &mﬁn
A [THYHHE TdE I [I& & 15y g g1 &I Udle
qufgeda {laminar) e o SR T A
EEIE

B. 1. [GRgu @i Udh Ulefi e 9 gl
EEIE
C W(Tui‘bulemj m @Wﬁéﬁq%ﬁ{holejmw
" [WaTs [ vars
D. [arguil varg IV. [RR1 3R ¢Hi-a 5 9d yaT
fafeRad faeedl & 9 981 IR &1 99+ BHIfelU -

1. A-IIT. B-1. C-IV. D-II

2. A-IL B-1. C-IV, D-III

3. A-IIL B-IV. C-1. D-II

4. A-IT, B-IV. C-I, D-III
Options :

686340177701. 1
686340177702. 2



686340177703. 3
686340177704. 4

Question Number : 27 Question Id : 68634044985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When the water surface comecides the top edge of a rectangular vertical 40m (wide) x 3m (deep). then the
depth of center of pressure 1s.

1.1m

| )

1.5m
3.2m
4.2.5m

Options :

686340177705. 1
686340177706. 2
686340177707. 3
686340177708. 4

Question Number : 27 Question Id : 68634044985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OE T P 9% UP ATABR HE GR 40 m (AT « 3m (TR0, I H TMdl § <l 21§ & D& 3] ol
Bl

1.1m

2

. 1.5m
3.2m
4.2.5m

Options :

686340177705. 1
686340177706. 2
686340177707. 3
686340177708. 4

Question Number : 28 Question Id : 68634044986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Unit of kinematic viscosity is.

1. m?/sec
2. Newton sec/ m>
3. Newton sec/ m°
4 Kg sec/m?

Options :

686340177709. 1

686340177710. 2

686340177711. 3
686340177712. 4

Question Number : 28 Question Id : 68634044986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl TG Bl DTS ©
1. H?/ HPhUs
2. Yo I Us / 12
3. g b us /I
4. W IPUs / HE
Options :
686340177709. 1
686340177710. 2

686340177711. 3
686340177712. 4

Question Number : 29 Question Id : 68634044987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dimensional formula of force 1s:
1.MLT 2
30 ] ¥
3.ML 2T
anle? o

Options :



686340177713. 1
686340177714.2
686340177715. 3
686340177716. 4

Question Number : 29 Question Id : 68634044987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EREAR NI EE
LMLT 2
2. M L2
3.ML™2T
£ M1 12 T2
Options :
686340177713. 1
686340177714. 2

686340177715. 3
686340177716. 4

Question Number : 30 Question Id : 68634044988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: As temperature increases. viscosity of air decreases.
Reason R: As the temperature increases, activity of air molecule increases.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A

3. Ais true but R is false

4. A istrue but R is true

Options :

686340177717. 1
686340177718. 2
686340177719. 3
686340177720. 4



Question Number : 30 Question Id : 68634044988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T

YT A: TG A9 9¢dl §. a1 1 Il 9l &

HRUIR: O A9HH Sedl 8. a7 HU[3f &1 Trafafy 9 &l 8

SWRIS DY & el B, A< f3U U fdeedi T 9 99 Suged 3ok &1 99 S
1. A SRR EHI Hel § AR R. A DI Ugl ARAT §

A SR R I OE € SR R, A T wEl oo it @

AT R AR T TS &

4. AGEI TR g AP R WEH ®

Options :

686340177717. 1
686340177718. 2
686340177719. 3
686340177720. 4

-2

Question Number : 31 Question Id : 68634044989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The stream function for a two-dimensional flow is given by ¥ =2xy . the velocity at (2.2) is.

1. 4+2

[ B

A4

4, 42

Options :

686340177721. 1
686340177722. 2
686340177723. 3
686340177724. 4

Question Number : 31 Question Id : 68634044989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U g oA HaTs & [T 4R (Va18) B ¥ =208 | (2.1) WA 8

1.4+2

[
=

4. 42

Options :

686340177721. 1
686340177722. 2
686340177723. 3
686340177724. 4

Question Number : 32 Question Id : 68634044990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The modulus of Rupture of Lime mortar (28 days curing) should not be less than.

1. 1 N/mm?

[ )

i ?

. 2N/mm
- 4 2
3. 2.5 N'mm*

4. 3.0 N/mm?

Options :

686340177725. 1
686340177726. 2
686340177727. 3
686340177728. 4

Question Number : 32 Question Id : 68634044990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S (hydraulic) T HIER (28 &, foR) & fafeul gem o1 A ¥ DY gl g F1eu|
1. 1 N/mm?
2. 2N/mm?
3.2.5 N/mm®

4. 3.0 N/mm?

Options :



686340177725. 1
686340177726. 2
686340177727. 3
686340177728. 4

Question Number : 33 Question Id : 68634044991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A good brick should not absorb water by weight more than.

1. 10%

[

. 20%

4, 30%

Options :

686340177729.
686340177730.
686340177731.
686340177732.

AW N =

Question Number : 33 Question Id : 68634044991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U9 3Bl 5¢ Bl do & % 9 Hf® T, S@fd el ®-1 ey

1. 10%

|

. 20%

4. 30%

Options :

686340177729.
686340177730.
686340177731.
686340177732.

AW N =

Question Number : 34 Question Id : 68634044992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Workability of concrete is improved by air entraining agent

Reason R: Air enfraining agent increases concrete strength

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 18 NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

686340177733. 1
686340177734.2
686340177735. 3
686340177736. 4

Question Number : 34 Question Id : 68634044992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

G A: TR RIS SHE GRI Hibic B SIS § GuR a1 sTar g1

BRI R: AT HRIG! HHE GhIC &I didd a¢Ial gl

SWRIF DY & 3H1alld 1, H1d 2y 7Y f[deedi ¥ 9 9 Suge STk &1 99 B
1. A SR R 3 961 € AR R. A DI Iel AR &

A 3R R Ml U6 § SRR, A D el oA 761 &

AT AGTR I TSR

4, AEI TR g AT R el &

Options :

686340177733. 1
686340177734. 2
686340177735. 3
686340177736. 4

[ ]

L¥ ]



Question Number : 35 Question Id : 68634044993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason E.

Assertion A: The higher percentage of tricaleium silicate in cement results i rapid hardening with an early
gain 1n strength at higher heat of hydration.

Reason R: A higher percentage of dicalcium silicate in cement results in slow hardening and less heat and
hydration and greater resistance to chemical attack.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

686340177737. 1
686340177738. 2
686340177739. 3
686340177740. 4

Question Number : 35 Question Id : 68634044993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

3ty A: Hife ¥ Trafcay ffdde & 3= uliwd & IRUMERY 9= d1d iR Siadie | died 3
AT AT & 1Y ot T TR B o1 5|

PRUR: YiHc § T afeymy Rfdiee &1 3= wiawr e 71fa & e 8iar 8 SiR sferdior & &8 T
IR IErEfE ghw & oy it ufekiy g |

SWRIF DY & 3H1alld 1, H1d 2y 7Y f[deedi ¥ 9 9 Suge STk &1 99 B
1. A SR R 3 961 € AR R. A DI Iel AR &

A 3R R Ml U6 § SRR, A D el oA 761 &

3. AT R AP R TR

4, AEI TR g AT R el &

Options :

686340177737. 1
686340177738. 2
686340177739. 3
686340177740. 4

[ ]

Question Number : 36 Question Id : 68634044994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |Fineness of cement] [ [le-Chatelier Apparatus
B. [Setting time II. [Vicat's Needle
C. |Soundness II1. JAir permeability Apparatus
D. [Workability IV |Slump cone

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| )

CA-ILL B-1L C-IV, D-I1

L

AL B-ILL C-1, D-IV
4. A-I. B-IV, C-1II, D-IT

Options :

686340177741. 1
686340177742. 2
686340177743. 3
686340177744. 4



Question Number : 36 Question Id : 68634044994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

A 1 T 11
iHe @ gerad]| 1 [o iR 3us|
U@ | 1L [dide @ gu/4ed
Bl 11 [gaT Ul

BERBG] V. b3l 2@
frafead [deedl O I 98l SR &1 99 Sl :

1. A-I. B-II. C-III. D-IV

ofofw]s

| o

AT B-1L C-IV, D-I1I
3. A-IIL B-I1. C-1. D-IV
4. A-I. B-IV, C-I11. D-II

Options :

686340177741. 1

686340177742. 2

686340177743. 3
686340177744. 4

Question Number : 37 Question Id : 68634044995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tensile strength of conerete 1s measured by

1. Direct tension test in the universal tensile machine

| B

. Applying compressive load along the diameter of the cylinder

LIF¥]

. Applying third poimt loading on prism
4. Applying tensile load along the diameter of the cylinder

Options :

686340177745. 1
686340177746. 2
686340177747. 3
686340177748. 4

Question Number : 37 Question Id : 68634044995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



doghie B o= (T-aT) TTH ATl o ©

1. I q=0d1 7RI § Uedal a-a TRie
RIdiER (@aF) & & o Y (JUle) HURIE g1 TDR
oo R it fifg (oS i) wifsT amg aed
TSR (99 & 91Y 09 YR @1 &R

[ ]

L]

=

Options :

686340177745. 1
686340177746. 2
686340177747. 3
686340177748. 4

Question Number : 38 Question Id : 68634044996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If P 1s the standard consistency of cement the amount of water used in conducting the initial setting time test
on cement is.

1.065P

| )

085P
3. D6P

4. 08P

Options :

686340177749. 1
686340177750. 2
686340177751. 3
686340177752. 4

Question Number : 38 Question Id : 68634044996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hﬁ%@ﬁeaﬁmﬁ@rﬁm%ﬁ%mﬁw@ﬁnwﬁwmﬁﬁaﬂnﬁmwﬁa@ﬁaﬁ
AT

1.065P

b2

.0.85P

3.06P

4. 08P



Options :

686340177749. 1
686340177750. 2
686340177751. 3
686340177752. 4

Question Number : 39 Question Id : 68634044997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If W is weight of the chain. L is span and P is tension or pull, then sag correction for chain line will be.

1. W2L%/24p?
2. W2L/24P
3. W2L/24P?
4. W2L%24P

Options :

686340177753. 1

686340177754.2

686340177755. 3
686340177756. 4

Question Number : 39 Question Id : 68634044997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe w o &1 9o, L BRI & &9 @1 g3 3R p a1 a1 (&491a 8. a1 94 a1 1 Ryfear gam grm

1. W2L.2/24P2
2. W2L/24P
3, W2L/24p2
4. W2L2/24P

Options :

686340177753. 1

686340177754.2

686340177755. 3
686340177756. 4

Question Number : 40 Question Id : 68634044998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sensitiveness of a bubble tube in a level would decrease if.

1. The radius of curvature of the mternal surface of the tube is increased

[

. The diameter of the tube is increased

L]

. The length of the vapour bubble 1s increased
4. The viscosity of the liquid is increased

Options :

686340177757. 1
686340177758. 2
686340177759. 3
686340177760. 4

Question Number : 40 Question Id : 68634044998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fep il TR UR U gergen eil &1 Hdg-2iierdl ©H gl Wuel. afd
1. TR e F ashdl Hoal &4 &l ol

2. =Tcil T 1Y §¢ WY

3. O gAgd Bl GaTg 9671 &1 WY
4, 500 @1 THdl 961 31 oY

Options :

686340177757. 1
686340177758. 2
686340177759. 3
686340177760. 4

Question Number : 41 Question Id : 68634044999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the volume of a 6m deep tank having rectangular shaped top 6mx4m and bottom 4mx2m (compound
through the use of prismoidal formula)

1.96 m>

| ]

.04 m?>
3.92m°

4,90 m>

Options :



686340177761. 1
686340177762. 2
686340177763. 3
686340177764. 4

Question Number : 41 Question Id : 68634044999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6111”3%%@ W@T%WH TATPR MY 6m x 4m 3R A 4m * lm%ﬂ

(ISHIg A WIHET BT SUHRT Beb U] &)

1.96 m>

[ B

04 m°
3.92m°

4,90 m3

Options :

686340177761. 1
686340177762. 2
686340177763. 3
686340177764. 4

Question Number : 42 Question Id : 68634045000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If n observations are taken. then accidental errors are proportional to.

1.n

2
.1

[

3.%n
4. 1/n

Options :

686340177765. 1
686340177766. 2
686340177767. 3
686340177768. 4

Question Number : 42 Question Id : 68634045000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe o Uefu o0 o1 €. 1 Siepfeies Ffedl fewres wmrgardt g1l 82

1.n

2
0

[ ]

3.vn

4. 1/n
Options :
686340177765. 1
686340177766. 2

686340177767. 3
686340177768. 4

Question Number : 43 Question Id : 68634045001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following methods estimates best area of an wrregular and curved boundary?
1. Trapezoidal method
2. Simpson's method

3. Average ordinate method

4. Mid-ordinate method
Options :
686340177769. 1
686340177770. 2

686340177771. 3
686340177772. 4

Question Number : 43 Question Id : 68634045001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefad 3§ 9 o F 9 5 sifaffa 3R raaR S1H1 & &3 &1 989 3E81 A il 87
1. YR fafY (Cudigsa) fafy

. Ty fafd

. 3{rd gu=g fafY

4. 7 ga-a9 fafe

| )

L

Options :
686340177769. 1



686340177770. 2
686340177771. 3
686340177772. 4

Question Number : 44 Question Id : 68634045002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The true length of a line 1s known to be 200m. When this is measured with a 20m tape. the length 1s 200.80m.
The correct length of the 20m tape is.

1.19.92m

[ ]

19098 m
3.20.,04m

4. 20,08 m

Options :

686340177773. 1
686340177774. 2
686340177775. 3
686340177776. 4

Question Number : 44 Question Id : 68634045002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3G B IRdfa® aars 200 Hied AT ST 81 9@ 59 20 Hiex €9 € 0197 &1l & d daTg 200.80 Hie
SIdl §1 20 Hiex 20 &1 Tal 0aTs ©.

1.19.92m

|

1998 m
3.20.04m

4. 20.08 m

Options :

686340177773. 1
686340177774. 2
686340177775. 3
686340177776. 4

Question Number : 45 Question Id : 68634045003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Survey of India was Publicity toposheet using a scale of

1. 1:1000

[

. 1:5000
3. 1:10,000
4. 1:50.000
Options :
686340177777. 1
686340177778. 2

686340177779. 3
686340177780. 4

Question Number : 45 Question Id : 68634045003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iqd 1P ghsar & U &I SUUNT Bd U eIUIRiie YepliLid P el 2.

1. 1:1000

|

. 1:5000
3. 1:10.000
4. 1:50.000
Options :
686340177777. 1
686340177778. 2

686340177779. 3
686340177780. 4

Question Number : 46 Question Id : 68634045004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The method of orienting a plane table with two inaccessible points is known as.

1. Intersection

[ )

. Resection

3. Back Sighting

4. Two point problem
Options :

686340177781. 1
686340177782. 2



686340177783. 3
686340177784. 4

Question Number : 46 Question Id : 68634045004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
< g7ia fagsdl & 91y U 9Had B9 31 9T o3 31 [afd Sgand o
1. Wi
e
i g
ql fdg gen

| )

[FN]

=Y

Options :

686340177781. 1
686340177782. 2
686340177783. 3
686340177784. 4

Question Number : 47 Question Id : 68634045005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Theory of errors and adjustments deals with minimizing the effects of.

1. Instrumental errors

[ )

. Mistake
3. Systematic error

4. Personal and accidental error

Options :

686340177785. 1
686340177786. 2
686340177787. 3
686340177788. 4

Question Number : 47 Question Id : 68634045005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340177785. 1
686340177786. 2
686340177787. 3
686340177788. 4

Question Number : 48 Question Id : 68634045006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The side of a square land was measured as 150m and 1s in error by 0.05m. What is the corresponding error in
the computed area of the land?

e ¥
1. 5m~

.10 m?

| )

"
3.15m"

N
4. 20 m*

Options :

686340177789. 1
686340177790. 2
686340177791. 3
686340177792. 4

Question Number : 48 Question Id : 68634045006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FNBR YT & [FIR B1 150 Hiex & ¥Y T U1 7T U 3R 599 0.05 Hiex B e &1 YH & o 87 1
gefia gfc 7 g

- 3
1. 56

| o

.10 m?
3.15m?
4. 20 m?

Options :

686340177789. 1
686340177790. 2
686340177791. 3
686340177792. 4

Question Number : 49 Question Id : 68634045007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Shear centre [. [Tension
B. |Puncipal plane II. lope
C. |Fixed end II1. |Shear stress
D. Piddle third Rule| IV, [Twisting

Choose the correct answer from the options given below:

1. A-IV, B-III.C-II, D-I

| E)

AL B-1, C-IV, D-11
3. A-IV. B-1, C-II. D-III
4, A-IV, B-11. C-I11, D-I

Options :

686340177793. 1
686340177794. 2
686340177795. 3
686340177796. 4

Question Number : 49 Question Id : 68634045007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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AT 1 AT I
GRIE]

FMRUU By | L

W 9de II. [eaH
=T 8 111 [3(g%0ur a1
. [7em IR e TV [gEeT

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-IV. B-IT1.C-II, D-I

ofofw]s

| o

CA-IILL B-1L C-IV, D-I1
3. A-IV. B-1, C-II. D-III
4. A-IV. B-11, C-111, D-I

Options :

686340177793. 1
686340177794. 2
686340177795. 3
686340177796. 4

Question Number : 50 Question Id : 68634045008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a circular shaft 1s subjected to a torque T and a bending moment M. the ratio of maximum shear stress to
maximum bending stress given by:

1. 2MV/T

| )

. TI2ZM
3.2T'M
4. M/2T

Options :

686340177797. 1
686340177798. 2
686340177799. 3
686340177800. 4

Question Number : 50 Question Id : 68634045008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe; ATHER YT IR & Y0 T & 3R §% amguf M &, df sifean sosaur wfaae ok sif¥eay da
TfIed BT 39 59 PR feal o €.

1. 2M/T

-2

. Ti2M
3.2T/M
4. M2T
Options :
686340177797. 1
686340177798. 2

686340177799. 3
686340177800. 4

Question Number : 51 Question Id : 68634045009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Stiffness method of structural analysis starts with.
1. Force-deformation relations
2. Equilibrium condition
3. Compatible deformation
4. Equilibrium state of internal stress component
Options :
686340177801. 1
686340177802. 2

686340177803. 3
686340177804. 4

Question Number : 51 Question Id : 68634045009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WA AT Bl PoRAT ol s el 8
1. §oi-fazgur day
R EECANER]
- P fazgur

4. TR d1d Ucd| i Tga- fufd
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L

Options :



686340177801. 1
686340177802. 2
686340177803. 3
686340177804. 4

Question Number : 52 Question Id : 68634045010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the ratio of maximum shear stress to average shear stress for a circular section

| M

[
[
%]

3. 4/3
4.3/4

Options :

686340177805. 1
686340177806. 2
686340177807. 3
686340177808. 4

Question Number : 52 Question Id : 68634045010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PR WS & AU Sy Sgsuv Yidad SR 39d /92Ul Yiddd &1 Suld &1 5

s

|

.2/3
3.4/3
4. 3/4

Options :

686340177805. 1
686340177806. 2
686340177807. 3
686340177808. 4

Question Number : 53 Question Id : 68634045011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

By considering ¢ = direct stress. E = modulus of elasticity. G = modulus of rigidity, [ = moment of inertia and
V = Volume

LISTI LISTII
(Strain energy) [(Gradually applied load)
y
Aoe I |Axial load
P
B. B II. |Bending load
2G
21r
| TF :
C| — I11. |Shear load
4G
2
LM~
D. I N et IV. |Torsional load
0 2E]

Choose the correct answer from the options given below:

1. A-II. B-ITI, C-IV. D-I

| )

CA-L B-IV, C-I11, D-I1
3. A-IL. B-IV, C-111, D-I
4. A-I, B-1II. C-IV. D-II

Options :

686340177809. 1
686340177810. 2
686340177811. 3
686340177812. 4

Question Number : 53 Question Id : 68634045011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T il
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Hd ET{% symbol = Y& d-Id. E - cilid & OM9i$, G -H SRl DI Jidb, I - wlod 3@ V- I

1. A-IL. B-III. C-IV. D-1
2. A-L. B-IV. C-III. D-II
3. A-IT. B-TV. C-I11. D-1I
4. A-1. B-III. C-IV, D-II

Options :

686340177809. 1

686340177810. 2

686340177811. 3
686340177812. 4

Question Number : 54 Question Id : 68634045012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a given activity. the optimistic time. pessimistic time and most probable estimates are 5. 17. 8 days
respectively. The expected time is

1. 8 days

| )

. 9 days
3. 10 days
4. 15 days

Options :

686340177813. 1
686340177814. 2
686340177815. 3
686340177816. 4



Question Number : 54 Question Id : 68634045012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foelt <t 715 T & forw smemard) T, FREmard) g SR 9eY SUIfEd SEH SR 5. 17 iR s e ©
fad T

1.81eA
ofem
3.10f6F
4.15faq
Options :
686340177813, 1
686340177814. 2

686340177815. 3
686340177816. 4

| )

Question Number : 55 Question Id : 68634045013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[Used for recording mstructions . T
A = : : I. |Co-ordination
oiven by the executive engineer at site
B. [Used widely for civil engneering construction| I [Unity command
C. |One of the Principle organisation III. |Line organisation|
D. |One of the function of management IV, |Site order book

Choose the correct answer from the options given below:

1. A-IV. B-III. C-II. D-I

[ ]

- A-TV, B-II, C-TI1, D-1
3. A-IL. B-IV, C-1, D-III
4. A-IV. B-1. C-II. D-III

Options :

686340177817. 1
686340177818. 2
686340177819. 3
686340177820. 4

Question Number : 55 Question Id : 68634045013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 i 11 9 i Sife

T 1 T I
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1. A-TV. B-III. C-I1. D-1
2. A-IV, B-1I, C-I11. D-I
3. A-ILL B-IV. C-1. D-III
4. A-TV. B-1. C-I1. D-III
Options :
686340177817 1
686340177818. 2

686340177819. 3
686340177820. 4

Question Number : 56 Question Id : 68634045014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Activity I. |Resourceless element
B. [Event II. |Resource consuming element
C. Dummy III. |Spare titne
D._ [Float IV |Instantaneous stage

Choose the correct answer from the options given below:

1. A-I. B-I'V. C-III. D-TI
2. A-IL B-1, C-IV, D-III
3. A-IL B-IV., C-1, D-III
4. A-ITL. B-IV. C-I, D-II

Options :

686340177821. 1

686340177822. 2

686340177823. 3
686340177824. 4



Question Number : 56 Question Id : 68634045014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
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A [fafafe 1 [reEeH dd
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1. A-I, B-IV, C-III, D-TI
2. A-II. B-I. C-IV. D-III
3. A-II, B-IV. C-1. D-III
4. A-IIL, B-IV. C-1. D-II

Options :

686340177821. 1

686340177822. 2

686340177823. 3
686340177824. 4

Question Number : 57 Question Id : 68634045015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A serious limitation of inter dependencies between various activities is generally observed in.

1. Bar-chart

(B

. Milk-Stone chart

[F5]

. Network Analysis
4, Job layouts

Options :

686340177825. 1
686340177826. 2
686340177827.3
686340177828. 4

Question Number : 57 Question Id : 68634045015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340177825. 1

686340177826. 2

686340177827. 3
686340177828. 4

Question Number : 58 Question Id : 68634045016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radius of mohr's circle of stress of a strained element is 20 N/mm? and minor principle tensile stress is10

] s, ’ i .
N/mm* the major principle stress is

[ ]
L]
=
Z
ot
=]
5
—
[}

3. 60 N/mm?

4. 100 N/mm?

Options :

686340177829. 1
686340177830. 2
686340177831. 3
686340177832. 4

Question Number : 58 Question Id : 68634045016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U THIYU] dcd & SR g &1 541 20 Nimm? 3R @Y I3 -1 a91d &1 A 10 N/mm? ©. 414 &0
a1 FTAF .

1. 30 N/mm?

[

50 N/ mm-
3. 60 N/mm-

4. 100 N/mm?

Options :

686340177829. 1
686340177830. 2
686340177831. 3
686340177832. 4

Question Number : 59 Question Id : 68634045017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s hydrological cycle?

1. Processes involved in the transfer of moisture from sea to land

| B

. Processes involved in the transfer of moisture from sea back to sea again
3. Processes involved in the transfer of water from snowmelt in mountain to sea
4. Processes involved in the transfer of moisture from sea to land and back to sea again

Options :

686340177833. 1
686340177834.2
686340177835. 3
686340177836. 4

Question Number : 59 Question Id : 68634045017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340177833. 1
686340177834. 2
686340177835. 3
686340177836. 4

Question Number : 60 Question Id : 68634045018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hydrograph is the graphical representation of.

1. Runoff time

2

. Surface runoff and time
3. ground water flow and time

4. Rainfall and time

Options :

686340177837 1
686340177838. 2
686340177839. 3
686340177840. 4

Question Number : 60 Question Id : 68634045018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EESUTE o Ewg (fthea) Uiafia 8
1. 3{YdTE 9Hy

| )

. gdg 3Udre 3R gy

FAvdTE 3R IHY

4. 981 3R GHY

L

Options :

686340177837. 1
686340177838. 2
686340177839. 3
686340177840. 4

Question Number : 61 Question Id : 68634045019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Humidity decrease with altitude

Reason R: At higher altitude the convective currents are very much reduced

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 18 NOT the correct explanation of A

3. A 1s correct but R iz not correct

4. A is not correct but R 13 correct

Options :

686340177841. 1
686340177842. 2
686340177843. 3
686340177844. 4

Question Number : 61 Question Id : 68634045019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

iy A i S92 & G SO S WA ©

BRI R: @ HdTs R, §a5- YR g5 FH 5 oMl 5
SWRIF DY & 3H1alld 1, H1d 2y 7Y f[deedi ¥ 9 9 Suge STk &1 99 B
1. A SR R 3 961 € AR R. A DI Iel AR &
2. A SRR GHI TGl § IR R, A DI Ul A 76l &
3. AT R AP R TR
4, AEI TR g AT R el &

Options :

686340177841. 1
686340177842. 2
686340177843. 3
686340177844. 4




Question Number : 62 Question Id : 68634045020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Penman's equation is based on

1. Energy budgeting only

2

. Energy budgeting and water budgeting

LFS]

. Energy budgeting and mass transfer
4. Water budgeting and mass transfer

Options :

686340177845. 1
686340177846. 2
686340177847. 3
686340177848. 4

Question Number : 62 Question Id : 68634045020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHH FHIpRUT S{1e1Rd 8

1. Pad Il gole X

 Full deof 3R ofd §uic 1R

[

3ol §uie 3R ST MG 1)

L]

4. Fd 99 3R SoOH RIFTER0 IR

Options :

686340177845. 1
686340177846. 2
686340177847. 3
686340177848. 4

Question Number : 63 Question Id : 68634045021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII}
(Type of Precipitation) (Principle causes)
A |Convective 1. |Pressure difference
B. [Cylonic II. Mountain barrier
C. |[Frontal IT1. [Temperature difference
D. |Orographic IV, |Warm and cold air masses

Choose the correct answer from the options given below:

1. A-III, B-1, C-IV, D-II

[ ]

. A-IL B-1I0, C-1. D-IV
3. A-L. B-IV, C-II. D-II
4. A-IV. B-1I. C-1. D-III

Options :

686340177849. 1
686340177850. 2
686340177851. 3
686340177852. 4

Question Number : 63 Question Id : 68634045021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

1 &I
@&W@m (I3 F)
Hag- W FEEEGH
EEEIGH IL. [gdd a1
e guu | 11 e SR
UTa® IV. [T 3R 431 gd1 & goddH

frafafad fawel 5 I 96t S| &1 994 DI -

1. A-IIT, B-1. C-IV. D-II

Ofo|w|*=

2. A-IL B-III. C-1. D-IV
3. A-L. B-IV. C-III. D-II
4. A-IV. B-1I. C-1. D-III

Options :

686340177849. 1
686340177850. 2
686340177851. 3
686340177852. 4



Question Number : 64 Question Id : 68634045022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTII
A |Anemometer I. [Humidity
B. [Rain simulator | II. |Evapotranspiration|
C. [Lysimeter II1. [Infiltration
D. [Hygro meter | IV [Wind speed

Choose the correct answer from the options given below:

1. A-IV, B-I1I. C-1. D-II

| ]

AL B-IV. C-1, D-11

L]

A-IV, B-III, C-II. D-1
4. A-IIL B-IV. C-I1, D-I

Options :

686340177853. 1
686340177854. 2
686340177855. 3
686340177856. 4

Question Number : 64 Question Id : 68634045022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 = 11 9 faH Sife
T 1 = 10
A U 1. [
B. g fmgaex | o famoe. Seea
C. [AEdEer | UL R
D. GE®MEE |1V [@g-7fd
frrafelad faseal & 3 98l IR @1 991 DI -

1. A-IV. B-I11. C-1. D-II

| o

AL B-IV. C-1, D-I1
3. A-IV. B-1II. C-II. D-I
4. A-I11, B-IV. C-I1, D-I
Options :

686340177853. 1
686340177854. 2



686340177855. 3
686340177856. 4

Question Number : 65 Question Id : 68634045023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 6-hour storm with hourly intersities of 7, 18, 25, 12, 10 and 3mm per hour produced a run off 33 mm. Then
the © index 1s

1. 7mm / hr
2. 3mm/ hr
3. 10 mun / hr
4. 8§ mm / hr
Options :
686340177857. 1
686340177858. 2

686340177859. 3
686340177860. 4

Question Number : 65 Question Id : 68634045023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 6 8¢ & QW H 7, 18, 25, 12, 10 3R 3 mm WITHET 30 mm &1 3UATE I (941, I 0 YD IS G,

1. 7mm / hr

| B)

C3mm / hr

(5]

10 mum /b

4, 8 mm / hr

Options :

686340177857. 1
686340177858. 2
686340177859. 3
686340177860. 4

Question Number : 66 Question Id : 68634045024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Darcy's law. for ground water movement velocity 1s proportional to.

1. Hydraulic gradient

b2

. Square of hydraulic gradient

L¥ 5]

. Square root of hydraulic gradient
4. Reciprocal of hydraulic gradient

Options :

686340177861. 1
686340177862. 2
686340177863. 3
686340177864. 4

Question Number : 66 Question Id : 68634045024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR & oA aR ySa d9ad & fae, 3 srqufas @
1. glsgifd® @fsue) grd &
TSIt e Afsde) S ari &
BIESI® ald (ifgde) & aiga &
BIggifee old (Ufsde) & gohd &

Options :

686340177861. 1
686340177862. 2
686340177863. 3
686340177864. 4

| )

L

=

Question Number : 67 Question Id : 68634045025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A |Lacustrine soil | 1. [Transported by wind
B. |Alluvial soil 1. |Transportation by running water|
C. |Aeoline soil III. [Deposited at the bottom of lakes
D. Marine soil IV, |Deposited in sea water

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| ]

AL B-IIL, C-1L D-IV
3. A-III, B-11. C-IV, D-I
4. A-I. B-III. C-II. D-IV

Options :

686340177865. 1
686340177866. 2
686340177867. 3
686340177868. 4

Question Number : 67 Question Id : 68634045025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

Tt 1 g 11
AMRRTS |1 Gadgudan
B [Fac gl |1 |sgd ol & grid oHl
C [araw el | [Shel & aa | s e
D. [gegifiel | 1v [ ol J s g

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-I. B-II. C-III. D-IV

| o

AL B-ILL C-1L D-IV
3. A-III. B-1I. C-IV. D-I
4. A-1. B-III, C-I1, D-IV

Options :

686340177865. 1
686340177866. 2
686340177867. 3
686340177868. 4



Question Number : 68 Question Id : 68634045026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Reduction in volume of soil primarily due to squeezing out of water from winds is called.

1. Primary consolidation

2

. Plastic flow

LFS]

. Creep

=

. Secondary consolidation

Options :

686340177869. 1
686340177870. 2
686340177871. 3
686340177872. 4

Question Number : 68 Question Id : 68634045026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T BU H NGl O &d & Hgs- & SR Gl & SUad J Sl dedldl o
1. UTYfH® FHe=
2. Wi 9
3. 4T
4. Tgdige He

Options :

686340177869. 1
686340177870. 2
686340177871. 3
686340177872. 4

Question Number : 69 Question Id : 68634045027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The change that take place during the process of consolidation of a saturated clay would include.

1. An increase in pore water pressure and an merease in effective pressure

[ ]

. An increase in pore water pressure and a decrease in effective pressure
3. A decrease in pore water pressure and a decrease in effective pressure
4. A decrease m pore water pressure and an increase in effective pressure

Options :

686340177873. 1
686340177874. 2
686340177875. 3
686340177876. 4

Question Number : 69 Question Id : 68634045027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% Yqgwd gl & Ih o1 Ufchar & SR 814 ardl uRad I 2ifie g

1. M Y H UMl & gard H gig iR uydl gaa 4 gfg
2.0 HUH UM & gara ¥ 9iG SR gurd gard o S
3.9 $U H UMl & ga1a § ST SR gurdl garg O Sl
4.3 P9 U & ga1d § Bl 3R guTEl gaa § 9iS

Options :

686340177873. 1

686340177874. 2

686340177875.3
686340177876. 4

Question Number : 70 Question Id : 68634045028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sand sample has a bulk density of 20kN/m?> and degree of saturation of 70%. If the specific gravity of soil
gram 1s 2.65, the value of critical hydraulic gradient for the soil will be.

19502

| ]

S100S

4.1.15

Options :



686340177877. 1
686340177878. 2
686340177879. 3
686340177880. 4

Question Number : 70 Question Id : 68634045028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ¥d o 95 194 20 km / m? § IR UG &1 &4 70% 51 ale g & g1 &7 (A1 5 2.65 5. ol
fordt & fefu shifde grggliferd yquidn (AfSUE) &1 | §HL

1. 1.02

I

1.05
3.1.10

4115

Options :

686340177877.
686340177878.
686340177879.
686340177880.

AW N =

Question Number : 71 Question Id : 68634045029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Measuring device) (Soil Parameter
A [Pvcnometer I. [Compressibility
B. [Hydrometer II. |Permeability
C. |Oedometer 111 |Specific gravity
D. |Permeameter | IV, [Particle size analysis

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-I, D-III

[ ]

AL B-1L C-IV, D-11
3. A-IL B-1. C-IV, D-III
4. A-II1. B-IV. C-I. D-II

Options :

686340177881. 1
686340177882. 2
686340177883. 3
686340177884. 4



Question Number : 71 Question Id : 68634045029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T T I
GILGHE) figt mae (@R
fmEeaEe | L gEe
eIz oty 1L [y ugefigan
HgSMex |11 [fafRp od
EritsirEs IV, [0 TR [q=Ryo

frafafad fawel 5 I 96t S| &1 994 DI -

1. A-II. B-IV. C-I, D-III

o|o]w]s

2. AL B-1. C-IV. D-II
3. A-IL B-1. C-IV, D-III
4. A-I1. B-IV. C-I. D-II

Options :

686340177881. 1
686340177882. 2
686340177883. 3
686340177884. 4

Question Number : 72 Question Id : 68634045030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI (Seil) |LIST II (Group Syvmbol)
Clayly gravel | 1. |SM
Clayly sand II. JOH
Organic clay | IIL |SC
Silty sand IV |GC

T REE

Choose the correct answer from the options given below:

1. A-IIT, B-TV. C-1I. D-I

| )

CA-IV, B-III, C-I, D-I1
3. A-IV. B-IIL. C-II. D-I
4. A-ITL. B-IV. C-I, D-II

Options :
686340177885. 1



686340177886. 2
686340177887. 3
686340177888. 4

Question Number : 72 Question Id : 68634045030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
1 =

Eg% (FYE Wei®)
A [fgietesil | L [sM
B. [Hgi@izd |1 JoH
C. [sfgm fygl  |mr fsc
D. [@lae gad 3d [ IV, JcC
frafafad fawel 5 I 96t S| &1 994 DI -

1. A-IIT, B-TV. C-1I. D-I
2. ATV, B-IIIL C-I,. D-II
3. A-IV. B-IIL. C-II. D-I
4. A-I1. B-IV. C-I. D-II

Options :

686340177885. 1
686340177886. 2
686340177887. 3
686340177888. 4

Question Number : 73 Question Id : 68634045031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Deposit) [LIST II (Satl structure)

A |Coarse grained soil] I. |[Flocculated

B. [5ilt deposit I1. [Cohesive matrix
C. |Clay deposit 1II. [Honey comb

D. [Composite soil IV. |Single grained

Choose the correct answer from the options given below:

1. A-II. B-I1I. C-1. D-IV

| ]

CA-TV, B-IIL. C-1, D-I1
3. A-IL. B-1. C-III, D-IV
4. A-IV. B-1. C-III, D-II

Options :

686340177889. 1
686340177890. 2
686340177891. 3
686340177892. 4

Question Number : 73 Question Id : 68634045031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
g1 11
A [FReHaE e | L feer
B. [fTlg 9419 I [§9dd HTg (HicH
C. [t gl &1 S| 1L [
D. [[F¥a (Faw) gt | IV [ghd e

fFrafarad fomed & 9 96 SR @1 924 DI ;

1. A-I1. B-I11. C-1. D-IV
2. A-IV. B-1I1. C-1, D-1I
3. A-IL B-1. C-IIL. D-IV
4. A-TV. B-1. C-I11. D-II

Options :

686340177889. 1

686340177890. 2

686340177891. 3
686340177892. 4



Question Number : 74 Question Id : 68634045032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason B.

Assertion A: The water content of inorganic soil 1s determined by heating the soil in an oven at a temperature
of 105° to 110°C

Reason R: The free water absorbed water and structural water are all completely removed from the soil by
heating it at 105° to 110°C

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

686340177893. 1
686340177894. 2
686340177895. 3
686340177896. 4

Question Number : 74 Question Id : 68634045032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA (AU T §, Ud SH@HYT (Assertion A) P &9 1 R & ol GHRT 39 BRI (Reason R) &
g H:

@Y A: 105°C H 110°C & AIHH TR 3fia= (Mg) T g &1 76 o saTdi-a gl &1 Siel Sl
fFeiRa 1 ot B

BRI R: Tad 9T, SIa=ITYd U= 3R SRa1ee a3t &1 B2t 4 105°C F 110°C R T 93 I3 TRE
el faar S &

SWRIF DY & 3H1alld 1, H1d 2y 7Y f[deedi ¥ 9 9 Suge STk &1 99 B
1. A SR R 3 961 € AR R. A DI Iel AR &

A 3R R Ml U6 § SRR, A D el oA 761 &

AT AGTR I TSR

AT TS g APTIR TS ©

Options :

686340177893. 1
686340177894. 2
686340177895. 3
686340177896. 4

[ ]

L¥ ]

e

Question Number : 75 Question Id : 68634045033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Relative density of a compacted dense sand 1s approximately equal to.
1.04
2.0.6
3.0.95
4.1.20

Options :

686340177897. 1
686340177898. 2
686340177899. 3
686340177900. 4

Question Number : 75 Question Id : 68634045033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U (i Ty a1q &1 Smifée g @y & WER B ©

1.04

|

.0.6
5. 0:.95
4.1.20

Options :

686340177897. 1
686340177898. 2
686340177899. 3
686340177900. 4

Question Number : 76 Question Id : 68634045034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A soil has a liquid limit of 40% and plasticity index of 20% the plastic limit of the soil will be.

1. 20%

(B

. 30%
3. 40%
4. 60%

Options :

686340177901.
686340177902.
686340177903.
686340177904.

AW N =

Question Number : 76 Question Id : 68634045034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U firgt 6 ga 9191 40 % 8 @iRefad garie 20% g1 gl Pl wfes @ gl

1. 20%

|

. 30%
3. 40%
4. 60%

Options :

686340177901. 1
686340177902. 2



686340177903. 3
686340177904. 4

Question Number : 77 Question Id : 68634045035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A so1l sample has a shrinkage limit of 10% and specific gravity of soil solids as 2.7. The porosity of the soil at
shrinkage limit is.

1:21:3%

[ ]
| ]
- |

=}

4. 78.8%

Options :

686340177905. 1
686340177906. 2
686340177907. 3
686340177908. 4

Question Number : 77 Question Id : 68634045035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 2T & A @1 59 Ul 10% TU1 619 [He o1 fafy 99@ 2.7 3| S 9 R 2] &1 WRea §

1:212%

L
-]
|
=]

4. 78.8%

Options :

686340177905. 1
686340177906. 2
686340177907. 3
686340177908. 4

Question Number : 78 Question Id : 68634045036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A soil has a discharge velocity of 6 x 10 ~7 m/s and a void ratio of 0.5, its seepage velocity is.
1. 18x107"m/s

12x10 " m/s

[ ]

3. 6x10 " m/s

4. 3x10 "m/s

Options :

686340177909. 1
686340177910. 2
686340177911. 3
686340177912. 4

Question Number : 78 Question Id : 68634045036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Waﬂﬁaﬂqa‘TG x 10‘?111-9%8?7?&?5@1?[0.5%%%133“%!

1. 18x10 'm/s

2

12x107'm/s
3. 6x10 'm/s

4. 3x10'm/s

Options :

686340177909. 1
686340177910. 2
686340177911. 3
686340177912. 4

Question Number : 79 Question Id : 68634045037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Sudden closure sluice gate I. |Uniform flow
B. [Hydraulic jump in a stiling basin I1. |Rapidly varied flow
C. |Spreading irrigation water in the field| I1I. [Usteady flow
D. [Flow in the main irrigation canal IV, |Spatially varied flow

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV, D-III

| ]

AL B-I1, C-IV, D-1
3. A-L. B-IV, C-II, D-III
4. A-IIL B-IV. C-I1, D-I

Options :

686340177913. 1
686340177914. 2
686340177915. 3
686340177916. 4

Question Number : 79 Question Id : 68634045037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 i 11 9 i Sife

Tt 1 T 11
A [R[SH 71 B 3AHS 8¢ g L [T 991 Yalg
B. [ dftg d gdig 39q | 11 [did fafay Harg
C feddaE s S1UaR |11 piRR uaR
D. [g%1 iy TeX H udig IV, [fafarp fafdy uarg

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-L. B-II. C-IV, D-III

| o

A-IIL B-I1L C-IV, D-1
3. A-L. B-IV, C-II. D-III
4. A-I11, B-IV. C-I1, D-I

Options :

686340177913. 1
686340177914. 2
686340177915. 3
686340177916. 4



Question Number : 80 Question Id : 68634045038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Consumptive use refers to the loss of water as a result of.

1. Evaporation and Transpiration

| B

. Crop water Requirement

LF¥]

. Evaporation and mfiltration
4. Evaporation and Transpiration from the cropped area

Options :

686340177917. 1
686340177918. 2
686340177919. 3
686340177920. 4

Question Number : 80 Question Id : 68634045038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SuHm S adeEd & URUIM WEY od &f glH 95U
1. ATIeBRUT SR arsieol

 BHd od B HIGRIDl

TR SR REa

4. B &7 F aTfiBRUl SR TS

Options :

686340177917. 1
686340177918. 2
686340177919. 3
686340177920. 4

[ ]

L]

Question Number : 81 Question Id : 68634045039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A channel designed by lacey's theory has a velocity of 0.88m/sec. The silt factor 15 1.1, then mean depth will

be.

1. 1.95m

| ]

. 1.76m
3. 1.63m

4. 1.50m

Options :

686340177921. 1
686340177922. 2
686340177923. 3
686340177924. 4

Question Number : 81 Question Id : 68634045039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot & Rigid gR [SoigH fPU 0 99d &7 0.88 m/s ©1 7116 HRS 1.1 § ol Ga1T (hydraulic) 10
RIS Bl

1. 1.95m

|

. 1.76m
3. 1.63m

4. 1.50m

Options :

686340177921. 1
686340177922. 2
686340177923. 3
686340177924. 4

Question Number : 82 Question Id : 68634045040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (theory) |[LIST II (Propounded by)
Exit gradient I JAN Khosla

Alluvial canal | I1 |G lacy

(Unit hydrograph] I11. |L K Sherman
Boundary laver | IV. L. Prandtl

N REE

Choose the correct answer from the options given below:

1. A-III. B-1. C-1I. D-IV

| ]

CA-IL B-II, C-II1, D-IV
3. A-IL. B-III. C-I. D-IV
4. A-IV, B-1II. C-II. D-1

Options :

686340177925. 1
686340177926. 2
686340177927. 3
686340177928. 4

Question Number : 82 Question Id : 68634045040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 = 11 9 faH Sife
T 1 g
Giik) ufaure®)
A FHuEudE | 1 [ @
B. [oidlg 983 11 [ofl ol
C. [giHe gEaias| L [T R
D. [FHod IV. [T USea
frrafeied faseal & I 98l I @1 991 DI -

1. A-IT1. B-1. C-I1. D-IV
2. A1 B-II. C-II1. D-IV
3. A-IL B-III. C-1. D-IV
4. A-TV. B-111. C-I1. D-I

Options :

686340177925. 1

686340177926. 2

686340177927. 3
686340177928. 4



Question Number : 83 Question Id : 68634045041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In order to ensure that no scouring take place in the bed of a channel of bed slope 'S' constructed on alluvial
soil of particle size 'd' cm. the flow velocity should be restricted.

1.4.85 42 516
2. 4.85 d12 gl/6
3.0.48 d12 516

4. 0.48 4172 g1/6

Options :

686340177929. 1
686340177930. 2
686340177931. 3
686340177932. 4

Question Number : 83 Question Id : 68634045041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g YHId B & (AU [ BT SMPR d om B! laile 102 R HiHd 98 WY (@dF) & =@1d & &S iy
(@dH) S H ®ig uRHATSIH el 8id1 8. WdTe avl & 49 A1 d& difiyd fosar oA =nfeu

4p5dl 0

—

| o

.4.85 dl/2 416
3.0.48 412 g U6

4.0.48 4172 16

Options :

686340177929. 1
686340177930. 2
686340177931. 3
686340177932. 4

Question Number : 84 Question Id : 68634045042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The discharge unit draw down at the wall is known as.

1. Specific yield

[

. Specitic storage

L]

. Specific retention
4. Specific capacity

Options :

686340177933. 1
686340177934. 2
686340177935. 3
686340177936. 4

Question Number : 84 Question Id : 68634045042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G4 6] R R | R B T ) I A ons | S e e A | o A I
1. fafdry s
fafry visRu
fafRry ufdemon
fafem aman

Options :

686340177933. 1
686340177934. 2
686340177935. 3
686340177936. 4

| )

[#5]

=

Question Number : 85 Question Id : 68634045043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

At a hydraulic jump, the depth at the two sides are 0.4m and 1.4m. The head loss in the jump is naerly equal.

1. 1.0m

(B

. 0.9m
3.0.7m
4, 0.45m

Options :
686340177937. 1



686340177938. 2
686340177939. 3
686340177940. 4

Question Number : 85 Question Id : 68634045043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Za9Nad ST IR, & [-RI O YOTd 0.4 m 3R 1.4 m §1 SOTd § N g T a’1eR 6-

1. 1.0m

|

. 0.9m
3.0.7m
4. 0.45m
Options :
686340177937. 1
686340177938. 2

686340177939. 3
686340177940. 4

Question Number : 86 Question Id : 68634045044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For standing crops in conducting sandy fields. the best method of irrigation is.

1. Sprinkal irrigation

b2

. Free flooding

. Check method

L¥ 5]

4, Furrow method

Options :

686340177941. 1
686340177942. 2
686340177943. 3
686340177944. 4

Question Number : 86 Question Id : 68634045044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5! B & Ay Wita Gal § [irg & o g6 o afd &

. H&d dle
N fafe
4. =1l fafer

Options :

686340177941. 1
686340177942. 2
686340177943. 3
686340177944. 4

fa—y

[ ]

L]

Question Number : 87 Question Id : 68634045045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Pump) LIST IT (Requirement)
A Multistage centri-fugal of moderate size impellers] 1. |High head and low discharge
B. |[Archimedean screw tvpe pump II. [Low head and large discharge
C. |stuple reciprocating pump IT1. |High head and moderate discharge
D. |Axial flow propeller pump IV. [Low head and low discharge

Choose the correct answer from the options given below:

1. A-IV, B-I1I. C-1. D-II

| ]

AL B-IV. C-1, D-11
3. A-IV, B-IIL C-II D-I
4. A-IIL B-IV. C-I1, D-I

Options :

686340177945. 1
686340177946. 2
686340177947. 3
686340177948. 4

Question Number : 87 Question Id : 68634045045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

a1 T
(T ) (SATIY SN
e HHR & S5y 43 U] L [3=) 9 IR 9 Faa

SIS &1 Ud UdbR &1 9 1L [F4 R iR 3= Rded
AT Ui 0 111 [3= IR SR A1 fHae
31f& UaTs Uiuek 99 V. A9 2 oIk 99 Fag

frafafad fawel 5 I 96t S| &1 994 DI -

1. A-IV. B-I11. C-1. D-II

=) il Il e

2. AL B-IV, C-1, D-II
3. A-IV. B-IIL. C-II. D-I
4. A-I1, B-IV. C-I1, D-I

Options :

686340177945. 1
686340177946. 2
686340177947. 3
686340177948. 4

Question Number : 88 Question Id : 68634045046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A commonly used hand pump is the.

1. Centrifugal pump
2. Reciprocating pump
3. Rotary pump
4. Axial flow pump

Options :

686340177949. 1

686340177950. 2

686340177951. 3
686340177952. 4

Question Number : 88 Question Id : 68634045046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ue HI: S9AT H 3 a1d 8% T (F1919d) ©:
1. fHH=F 7

H
i

=
]
:

Options :

686340177949. 1
686340177950. 2
686340177951. 3
686340177952. 4

Question Number : 89 Question Id : 68634045047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plough generals used for breaking impervious layer just below ploughing larger with help of number tyness 1s
called.

1. Subsoiler

| ]

. Chisel plough
3. Disc Plough
4. Indegenous plough

Options :

686340177953. 1
686340177954. 2
686340177955. 3
686340177956. 4

Question Number : 89 Question Id : 68634045047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S[dlg o URd &b ol i B g URd D Dy DR [ 5 [ Hgadl H Sdlg, (bl Slldl. Sl dgaldl ol
1. 39 gt

i3

Options :



686340177953. 1
686340177954. 2
686340177955. 3
686340177956. 4

Question Number : 90 Question Id : 68634045048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Travel Reduction Ratio. (TRR) 1s given by

Actual velocity

1. TRR =1- . -
Theretical velocity
» TRR =1 Theretical velocity
- Actual velocity
3 TRR =1+ __.”_'\uy_fn_l \F'E}pi_l_:-.-'__
: Iheretical velocity
4 TRR =11 Theretical velocity

Actual velocity

Options :

686340177957. 1
686340177958. 2
686340177959. 3
686340177960. 4

Question Number : 90 Question Id : 68634045048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT HHIPHROT S{UT (Travel Reduction Ratio. TRR) 1 [eral SIHI 5

LTRR=-1- i
| Tgifas

_,_ Ssifaw am
2. TRR=1 e
3. TRR=11 —aﬂ
' Ygifae am
4 e, S AT
4. TRR=1 e

Options :

686340177957. 1
686340177958. 2
686340177959. 3
686340177960. 4



Question Number : 91 Question Id : 68634045049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following gas 1s mainly emitted from paddy fields and ruminants and is also a green house gas?

1. NO,

£

| )

. CO

3. CO,

4. CH,

Options :

686340177961.
686340177962.
686340177963.
686340177964.

AW N =

Question Number : 91 Question Id : 68634045049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(4 191 & 9 1 91 g U I o9 &1 Wdl 8 I qUT STel o34 ard SRl § Hebddt o $iR U dF
grew TN el B0

1. NO,

[ B)

. CO

3. CO,

4.CH,

Options :

686340177961.
686340177962.
686340177963.
686340177964.

AW N =

Question Number : 92 Question Id : 68634045050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a gear 'A' having 50 teeth and running at a speed of 200 rpm is driving to another gear B’ having 125 rpm.
How many number of teeth are there in gear 'B'?

1. 500

| B

400
3. 80
4. 60

Options :

686340177965. 1
686340177966. 2
686340177967. 3
686340177968. 4

Question Number : 92 Question Id : 68634045050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

al¢ e FER A Y 50 &d § 250 guie Wid e &1 91a 9 71fd B3 381§ U 3= R B o 125 9uis Uid
fire & gy nfd SR un ¥ daifsia g1 e B # fovd gia &2

1. 500

-2

400

3. 80

4. 60
Options :
686340177965. 1
686340177966. 2

686340177967. 3
686340177968. 4

Question Number : 93 Question Id : 68634045051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The use tractor 1s conduected economical when it 15 utilised for.

1. 1500 hrs/year

[ )

. 1200 hrs/year
3. 1000 hrs/year
4. 1400 hrs/year

Options :



686340177969. 1
686340177970. 2
686340177971. 3
686340177972. 4

Question Number : 93 Question Id : 68634045051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud ¢Fex & I DI HaHIID HH] S1dl § o 39T 3UUnT EEG
1. 1500 ¥/ a9
1200 He/ a9
1000 ¥/ a8
4. 1400 He/ Ty
Options :
686340177969. 1
686340177970. 2

686340177971. 3
686340177972. 4

| )

[#5]

Question Number : 94 Question Id : 68634045052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In an offset harrow. the number of gang is.

1.4

[ )
| )

4.3

Options :

686340177973. 1
686340177974. 2
686340177975. 3
686340177976. 4

Question Number : 94 Question Id : 68634045052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s &ﬁqﬁféﬁﬁw (gang) Eﬁﬁ%r’

1.4

[
[ B

4.3

Options :

686340177973. 1
686340177974. 2
686340177975. 3
686340177976. 4

Question Number : 95 Question Id : 68634045053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most commonly used pump in tractor hydraulic system are.

1. Centrifugal type

[ )

. Gear type

L]

. Vane type
4. Unbalanced vane type
Options :
686340177977. 1
686340177978. 2

686340177979. 3
686340177980. 4

Question Number : 95 Question Id : 68634045053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sy e IuanT fy o ard ¢aex R vt g:-
1. P TPR
R yeRr

| )

L

 T[AEH 9HR
AR AeH bR

=Y

Options :
686340177977. 1



686340177978. 2
686340177979. 3
686340177980. 4

Question Number : 96 Question Id : 68634045054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In bottle sterilization usually done at.

1. 110° - 120° C, for 20 - 40 minutes
2. 407 - 60° C.for 10 - 20 minutes
3.135°-150°C, for 6 to 2 seconds
4. 40° - 60° C. for 6 - 2 seconds

Options :

686340177981. 1

686340177982. 2

686340177983. 3
686340177984. 4

Question Number : 96 Question Id : 68634045054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dicaggaR9Ha: . RIS

1. 110° - 120° C, 20 - 40 f9e & few
2.40° - 60° C, 10 - 20 [ & fou
3.135°-150°C, 6 - 2 HdhUs] & ferg
4. 40° - 60° C. 6 - 2 US| & feld

Options :

686340177981. 1

686340177982. 2

686340177983. 3
686340177984. 4

Question Number : 97 Question Id : 68634045055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Batch pasteurization stand for.

1. Low temperature long time pasteurization method

b2

. High temperature short time pasteurization method
3. Regenerative heating
4. Regenerative coding

Options :

686340177985. 1
686340177986. 2
686340177987. 3
686340177988. 4

Question Number : 97 Question Id : 68634045055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& (Batch) URERIPRUI &1 HAOd 6:-

1. =4 aroarE- fod guy argdievor fafe
.3 A9 - T 90Y Ui f§fY
gl T gl
QAR S8

Options :

686340177985. 1
686340177986. 2
686340177987. 3
686340177988. 4

| )

[#5]

=

Question Number : 98 Question Id : 68634045056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The pg value of mulk is.

1.85

| )

279
375
4.6.7

Options :
686340177989. 1



686340177990. 2
686340177991. 3
686340177992. 4

Question Number : 98 Question Id : 68634045056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G @I py A 5:-

1. 8.5

[ B)

.79
375
4. 6.7
Options :
686340177989. 1
686340177990. 2

686340177991. 3
686340177992. 4

Question Number : 99 Question Id : 68634045057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s an important and abundant gas in atmosphere that fertilizes crops.

1. Sulphur

[ )

. Ozone
3. Oxygen
4. Nitrogen

Options :

686340177993. 1
686340177994. 2
686340177995. 3
686340177996. 4

Question Number : 99 Question Id : 68634045057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o ¥ @ o O argrsa & meayul SR weR AT & 9 5 ard 19 € ©f Bud & g 30k 8-
1. JeR

el

. HITFESH

4. TgCIoH

Options :

686340177993. 1
686340177994. 2
686340177995. 3
686340177996. 4

[

L]

Question Number : 100 Question Id : 68634045058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Price fixing in milk is based on.

1. fat content

b2

. Protein content

3. Lactose content

4, Whitenesess content
Options :
686340177997. 1
686340177998. 2

686340177999. 3
686340178000. 4

Question Number : 100 Question Id : 68634045058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G &1 oo MR & YR W EAT
1. GHT ®I AT
HIEH & 3
IS BT O
4, Gddl S A

Options :
686340177997. 1

[ ]

L]



686340177998. 2
686340177999. 3
686340178000. 4



